TakbIpbin: AIMacCTBIPY TeHCI3AIr

ai, ay, ..., Ay, by, ..., b, HAKTBI CAHTAPBIH OCY PETIMEH Ka3albIK;

a, <a,<--<apxmeb, <b, <--<h,

(¢, ..., Cp) canmapsl (aq, ..., ;) CaHAAPBIH AIMACTHIPBUTYHI O0JICa,

a.b; +a,b, + -+ a,b, = a;c; +ayc, + -+ a,c,
2 anbl + an_lbz + + albn

TEHCI3/IT1 OPBIHATA B

1. (¢q,...,Cy) canmapsl (ayq, ..., A, ) CAaHAAPIBIH AIMACTHIPBLTYHI 00JICa,
af+ a5+ +ak=ac; +ac,+ o+ aycy

2. (¢4, ..., Ccy) cangapsl (a4, ..., Q,) CaHIAPBIH AIMACTBIPHLTYBI 0OJICA,
G G Cn
—+ =+ t+—2>n.

a a; an

3. Kes kenren a, b, ¢ caamaps! yiiia
a’?+b*>+c?>>ab+bc+ac.

4. (IMO,1964) a, b, c — ymOypsIi KaObIpranapsl 60J1ca,
a’(b+c—a)+b?*(a+c—b)+c?*(a+b—c) <3abc.

5. (IMO,1983) a, b, c — ymOypsIi KaObIpFaiapsl 0oJica,
a’b(a — b) + b%c(b—c) + c?a(c—a) = 0.

6. (Hecoum mencizoiei) Kes kenreH oH a, b, ¢ canmapsl yIliH
a b c 3

+ + > -,
b+c c+a a+b 2

7. (IMO, 1995) a,b,c > 0,abc = 1 cangaps! yIiIiH
1 1 1

a3(b + ¢) * b3(c + a) * c3(a+b)

3
==
2

8. (APMO,1998) Kes3 kesreH oH a, b, ¢ canaapsbl Y
(1+a)(1+b)(1+c)>2(1+a+b+c)
b C a’ Sﬂabc .

@maximum_abik



&

9. (Yebvrues mencizoici) a; <a,<--<a, xoHe b; <b,<--<bh,
caHJaphl YII1H
a;by + -+ a,b, 4 Tty by + -+ by
n - n n '

10.ay, ..., A, OH CAH/APBI KIHE S = Ay + - + Ay .
S s n?
+ >
Ss—aq s—a, n-—1
TEHCI3IITH J2JIeIIeICHI3.

Yii aKyMBICBI. AJIMACTBIPY TEHCI3airi

1. Ke3s kenred oH a, b, ¢ canmapsl Y
a® + b3+ c3 > a’b + b?c+c?a.

N

. (IMO, 1975) x; <x, <:-+<x, XoHe Yy, <y, <--<Yy, CaHIapbI
oepunred. (zq,...,Z,) cavgapsl (Yq,...,YVn) CaHAAPIBIH aAJIMACTBIPHLIYbI
0oJica,

(o =y et Gy = )? < (g —20)° + o+ (0 — 2)°
EKEHIH JISJIeNJICHI3.

3. a,b,c > 0xone abc = 1 cangapsl yIIiH
a® + b3+ c3 + (ab)? + (bc)® + (ca)® = 2(a’b + b?c + c?a) .

4. Ke3 kenreH oH a, b, ¢ caHmapsI YIIIiH

a’? b%? c? b ¢ a
ﬁ+§+;2_+_+_.

5. Ke3s kenren oH a, b, c cangapsl yIIiH
1 4 1 N 1 S a+b+c
a2 b%2 2~ abc

6. a, b, c — ymOypsIil KabbIpranapsl 0oJica,
a b c

+ + >3
b+c—a c+a—-b a+b-c

@maximum_abik



7. (IMO, 1978) x4, ..., X, 9pTYpJii OH OYTiH caHAAp YIIiH

x1+x2+ +xn>1+1+ +1
12 22 nz -1 2 n
8. a,b,c,d € [0,1] canmapsl yiin
a b c d

<2
1+b+1+c+1+d+1+a_
9. a,b,c > 0 ymin

a? b? c?

+ +
b2+bc c2+ca a%?+ab

3
= .
2

10.(“XKibex orconvt” onumnuadacwl, 2014) Tepic emec a, b, ¢

canziapsl yuis a® +

b3+ c3+abc =4 rtenpiri opeHganca, oHaa a’h+ b3c+c3a <3

TEHCI3/IITIH JoJIeICHI3IeP.

@maximum_abik



